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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) Question paper comprises five Sections — A, B, C, D and E. All questions are
compulsory.

(it)  Section A - Questions no. 1 to 20 are very short-answer type questions,
carrying 1 mark each. They are required to be answered in one word or one
sentence each, but not exceeding 20 words.

(iti) Section B - Questions no. 21 to 23 are short-answer type questions, carrying
2 marks each. Answers to them should not exceed 40 words each.

(iv) Section C - Questions no. 24 to 27 are long-answer type questions, carrying
4 marks each. Answers to them should not exceed 100 words each.

(v)  Section D — Questions no. 28 to 30 are two passage based questions and one
picture OR cartoon based question, carrying 5 marks each. Answers to them
should not exceed 150 words each.

Question no. 31 is a map based question that includes identification of
important places on the basis of given information. Write its answers in your
answer-book.

(vi) Section E — Questions no. 32 to 34 are long-answer type questions, carrying
6 marks each. Answers to them should not exceed 150 words each.

(vii) Answers should be brief and to the point and the above word limit be adhered
to as far as possible.

(viit) There is no overall choice in the question paper. However, an internal choice
has been provided in 1 question of one mark, 1 question of four marks and
3 questions of six marks. Only one of the choices in such questions is to be
attempted.

1 it is, l ucti l l l
(ix) In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A

1. During the First Gulf War, who was the President of Iraq ? 1
OR

Which was the first country in the South Asian region to liberalise its
economy ? 1
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2. &9 ¥ GUSEI] Shifd % F1¢ GHISEG! Hiload RS (I.0H.T79.97R.) forg ad

T Afedea | 1 ?
(A) 1914
(B) 1917
(C) 1939
(D) 1991

3. WU (i) o ol w9 fafew |
4. Tafafea gement § @ ge@ 19 ¥ HH-A g " 2
(A)  HTeI Sl TATIT
(B) vem fava g
() TeuRm 4 wam sm w1 frREn S
(D) Y9 U arieH
5. IO T I TAET o WAl b 9R H FEliRad § § -1 HeF HFaeT g ?
(A) T g faew fifd wgm e
(B)  Ushd Hgl o1 Fwfw
(C) T HIEl SR hl TATOHT
(D) I YT AN Tt | I e W qanT

6. TIAAAT % UYEI YRA g1 UATE T8 TIEVETE hi Hifd ol I Teh b qohl
=g 38Usy |

7. Tova =R e (s d.e0.) @ fomesia gun % fow sifus @it e
% T¢I T HgH g1y |

8. Tm=fifgd %um =1 FE 3oET Tad o €9 H qgaH hitae | frefl w3
BT 379 IR i gfee HIfT |
It Mg % o fova hit weh wuer i gran & fow et merg % 9 @
el sarel fufed 2 |

9. 9Nd ¥ oot famemi w fram # Aewqul v Y A Jar w1 q@ o am
faRem |
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2. The Union of Soviet Socialist Republics (USSR) came into being after the

Socialist Revolution in Russia in 1
(A 1914
(B) 1917
(C©) 1939
(D) 1991
3. Write the full form of SEATO. 1
4, Which one of the following was the last to happen ? 1

(A) Foundation of NATO
(B) First World War

(C)  Dropping of Atomic bomb on Hiroshima
(D) First NAM Summit

5. Which among the following statements about the objectives for the
establishment of the European Union is false ? 1

(A)  To provide a common foreign policy

(B)  Creation of a single currency

(C)  Establishment of a common market

(D)  Cooperation on justice and home affairs

6. Justify the policy of protectionism adopted by India after independence,
by giving any one argument. 1

7. Suggest any one step that should be taken to make the World Trade
Organisation (WTO) more acceptable to the developing countries. 1

8. Identify the following statement as true or false. Give any one example to
justify your answer.

“The countries of the North are more concerned about the protection of

the global commons than the countries of the South.” 1
9. Write the full name of the leader who played a prominent role in the
integration of Princely States with India. 1

59/2/1 5 P.T.0.



=
10. 379k fomm #, YRd H et o 31H gATEl B M 9T % 94 W I e
Y@ R HIH-AT o ? 1
11. 39 TSI A hl 98a HINT T Th <31, Teh TER{d 3N Th Tsg & o=
T A &l 8 | 1
(A) IR TS hidg
(B) WA SHHH
(C)  Faad it
(D) 9N HEJHEe aTel
12. ffafad 4 & o8 5%797 7% WaHET A% Jedeh Hl @ AT ? 1
(A) HIAHT 3T AT TG
(B)  ©I. TSHTeArEI
(C) maE R 3@
(D) .. pERE
13. 39YH TS & AW g ek Tomi sl gid I ERNE

T ° fRee o faem % fau s tean g 38 ¢ wisd
g1 A1 2 |
14. Tt v’ it sraynon T Hifu | 1
15.  foreft Tsg <t fagw fifa fore svieh & wwifaa gieft B 2 @6t ST gT | 1
(A) had HIEEhIdh HIH
(B) had AN HH
(C) AANEh 3TN AT HRh
(D) hdad TS P
16. = QU U Hua w1 T HLh A IT-Yfeaept H g feafe
g€ o 91g, e foagrl areft, 1988 H g ¥ % sftw HEdl ! U @ foru,
EEESIERCIGRPERCIERFIRCE N 1
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11.

12.

13.

14.

15.

16.

Eym
o
In your opinion, which major factor was responsible for the dominance of
the Congress Party in the first three general elections in India ? 1

Identify the political party which lays emphasis on the idea of one
country, one culture and one nation. 1

(A) Indian National Congress
(B) Bharatiya Jana Sangh

(C) Swatantra Party

(D) Communist Party of India

Who among the following was the author of the book titled ‘Economy of
Permanence’? 1

(A) Maulana Abul Kalam Azad
(B)  C. Rajagopalachari

(C)  Acharya Narendra Dev

(D) J.C. Kumarappa

Fill in the blanks with the appropriate name of the State : é+ é =1
The ° Model’ is the name given to the path of planning and
development charted by the State of

Explain the concept of ‘Privy Purse’. 1

The foreign policy of a nation is affected by which factors ? Choose the
correct answer. 1

(A)  Cultural factors only
(B) Domestic factors only
(C)  Domestic and international factors

(D) Economic factors only

Correct the statement given below and rewrite it in your answer-book :

After Nehru, Atal Behari Vajpayee became the first Prime Minister to
visit China in 1988 to improve relations between the two countries. 1
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18.

19.

20.

21.

22,

23.

24.

25.

26.

27.

&
294 T % &9 H, ffowd & ARA o 919 faa % 90, I i e o1
Toreeiwor SHifSw | 1
FAT AT 39 HIY ¥ TEAG 8 o “1975 H ATITAeRT <hl =Y 3 WA | Wikl
% el foaor & wwR W fen” 2 fhedt ue qeh grr otud IW A gfte

HIT | 1

AE-ftieft Trgre i I TE ¥ Tk Aigan ST Hi el T 7 ? 1

1985 o 3THH THId o TRUMH T 3TTehaid ShifT | 1
LCLCRCH

TIH Tsg GRaaT ufiwg shi TTS Tewrar & fore, wra <t Iufiear s wmeq T

Teh IUYTH b G hINTT | 2

YT o Teh-gd o JYcd 3T <fH & Th-gd o TYcd o o 3T T I | 2

1973 T 9RA & J&I =ARehsr ©.uA. 3 i e foareeag w1 o= T8 2 2
T ue

1971 o STATH Jg H HRA i fHeh! shi =re il | 4

forgl =R =t g g i for Sifoa g womafes it aoHifaes sterf #

feor 81 R e | 4x1=4
Srerat

Ife Hifewd g9 1 formed T8l g7 =ran, af 39 feufa &1 fowa, Teifa ®

ST BIaT ? 4

I8 Al Hal db 3Irud @ b Al eferor wivmm & @t owr ot o W &
RN Yh-ATYR W TgHT &l ¢, af 39 & § Ifd IR FgAm & Th ¢

1T hl I[ESTT & Tohell @ ? 4
HEA R T AR B o1 2 39 AR 61 Tohegl 04 g fawrien w1 oo
T | 1+3=4
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Analyse Chogyal’s role at the time of Sikkim’s merger with India as its
22nd State.

Do you agree that “the proclamation of Emergency in 1975 weakened the
federal distribution of power in India” ? Give any one argument to
support your answer.

Why was Anti-Arrack Movement called totally a woman’s movement ?

Assess the outcome of the Assam Accord of 1985.

SECTION B

Give any one suitable argument to support India’s candidature for
permanent membership of the UN Security Council.

Differentiate between one-party dominance of India and the one-party
dominance of China.

Why did the appointment of A.N. Ray, the Chief Justice of India, in 1973
become controversial ?

SECTION C
Explain India’s role in the Bangladesh War of 1971.

Give any four arguments to prove that the Soviet Union had become

stagnant in an administrative and political sense. 4x1=4

OR

If the Soviet Union had not disintegrated, how would that situation have
affected world politics ?

How far is it justified to say that a new chapter of peace and cooperation
might evolve in South Asia if all the countries in the region allow free
trade across the borders ?

Who was the chairperson of the Mandal Commission ? Mention any three

main recommendations of this Commission. 1+3=4
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28. = feu U srgw w1 eyHgde regH Hife R frfaRed ww % W

fafau :
Haa g3 o o1 T S 9T 1 SfeAT o AW § @ @ o W CWRA
3N ‘Arfered™ W % g1 o o o= |ie foan Smwm | w98 fawrsE gedh dr o
B, 3 W HA F1 R oW § a R oft wfeq on | 7@ form mn fR
Ttk IEEEA 1 [THISH 1 YR SR I | 66 AR I8 o fo6 T
gATehl H HUCHM SgHEd® o 98 3Th WIlhEdM % AT 8l 3R A9 faey
TRd hecdTll | I8 o1 AS! AHH I ISl 8, iichd AT § 39H hs [ohed
6 feFhd of |

(a) 1947 ¥ 9RA 1 fA9TS 31 FUH qaATeh T g g 2
(b)  fawrsH it T8 o 300 g8 Tohedl 3 G Hfcarsai 1 foveyor T |
() A wid 1 fouTsm 7 g3 g, @t fowa § wRa <l feuafa =R Bl ? 1+2+2=5

29. = U U ER F AHYES FEEH FHI FR FEfAREd T+ I
fafau :
TIfeId T & a8t 8l @ $1 qiaaHl o arg-are 37t Wi "ehe TUdn 51 @I o
3R 38 Hifawd g9 % faged & 7fa o o g | Mated 4 90 F AR
MRS IR TR ARRAARWT hl Hifd =5 | 31 gar Aifa=i &
FHrgfree ardf & Jarsti g fediy foram |

(a) Tor aftadHi & wror wifaea g9 % faaes i vfa a9 31 78 2
(b) TG gRT IR fohu 7T G o1 forie i <1 @ qitemy fepar ?

(¢c) SINE Iodfed frd TR Teh T o &Y H IHT ? 2+2+1=5
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SECTION D

28. Study the passage given below carefully and answer the questions that
follow :

Thus it was decided that what was till then known as ‘India’ would be
divided into two countries, ‘India’ and ‘Pakistan’. Such a division was not
only very painful, but also very difficult to decide and to implement. It
was decided to follow the principle of religious majorities. This basically
means that areas where the Muslims were in majority would make up
the territory of Pakistan. The rest was to stay with India. The idea might
appear simple, but it presented all kinds of difficulties.

(a)  Why did the partition of India in 1947 prove to be very painful ?

(b)  Analyse any two major difficulties that arose in the way of
partition.

(c) What would have been India’s position in the world, had there
been no partition of India ? 1+2+42=5

29. Study the passage given below carefully and answer the questions that
follow :

These developments were accompanied by a rapidly escalating crisis
within the USSR that hastened its disintegration. Gorbachev initiated
the policies of economic and political reform and democratisation within
the country. The reforms were opposed by leaders within the Communist
Party.

(a)  Which developments hastened the disintegration of the Soviet
Union ?

(b) What was the outcome of opposing the reforms initiated by
Gorbachev ?

(c) How did Boris Yeltsin emerge as a national hero ? 242+1=5

59/2/1 11 P.T.0.
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30. = fou MU HA H eHgEs e Fife qun fafafed T % S®
T

(a) oA H fe@Te T & o e TohE 1T 6 ik & ?
(b)  IEA G 1 Hew T S @i 7 2
(c) A h AR, A R PR R W HHA H TTE R @8 ?  2+2+1=5

Fie:  FHECTRIT J97 o gIRaTaa qhgniear & 1o/ 397 67 30 & €& T/
&/

(30.1) URYNEh e fifd & oo o €9 H Tosyd Fufor 1w 31k g 2

(30.2) URYNEh GU&TT <hl ATqieh 37 STgdl gmen o &= Igewn i dg=d |
R T2 KT | 2+3=5
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30. Study the cartoon given below carefully and answer the questions that
follow :

(a) What do the soldier and the pigeon shown in the cartoon
symbolise ?

(b)  What message does the cartoon convey ?

(c) As per the cartoon, what task is the soldier trying to
accomplish ? 242+1=5

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 30.

(30.1) What is meant by alliance building as a component of traditional
security policy ?

(30.2) Distinguish between the internal and external notion of
traditional security with the help of examples. 243=5

59/2/1 13 P-T.0.
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38l. ¥WRa % fou MU ToHifos W@rAWRE (98 156 W) # 499 TSI ol
@, ®, ©, D7 B > gr 3ifsed fham 1 7 | = & T IR W R
TS ST hl IgaH HIT 3R A0 ITR-gfeqent | 3h Tt A, T 6l T8
SRR bl s g qut "t § fear mn e ster, A= & wE arferset
®Yq iﬁ f%ﬂfiﬁTI :

ER?M@TlégiHchlu ‘J-IHI'CDIﬁ -
61 A & Hafed s |

(1)

(i1)

(iii)

(iv)

v)

() -t sTeeH ¥ Heiud TS |

(i)  FIAT o IAMYHR & [T HAGIAH § Fald T |

(iii) I8 TST TR SATIIA o] T TRl T |

(v) BT & H SR> T hee-SiEd Yey |
(v) Ted 9 JHIfed &9 S 1986 H TS &7 | 5x1=5
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31. In the given political outline map of India (on page 17), five States have
been marked as @), @), ©), @ and @ Identify these States on the

basis of information given below and write their correct names in your

answer-book along with the respective serial number of the information

used and the concerned alphabets given in the map as per the following

format :

Sr. no. of the
information used

Concerned alphabet
in the map

Name of the
State

(1)

(ii)

(iii)

(iv)

v)

(1) The State related to Anti-Arrack Movement.

(i)  The State related to the movement for Right to Information.

(i1i) The State where ‘Operation Blue Star’ was launched.

(iv)  Recently created Union Territory.

(v)  Insurgency affected region which became a State in 1986.

591211
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Fe:  [AElrEa 3e7 e g ghenfoal & forw yvT e 31 & v ®w
&/
(31.1) drEi-foet 1eiem fopm T @ wEfia B 2
(31.2) ‘g1 % IATUHR Heeh QI hl Y& FhT TsH & i 75 off ?
(31.3) ‘“SITTEM & WX fohd T5T & Hald g ?
(31.4) T & H S gl heg-MHd TG % W fAfEn |
(31.5) WA &9 < 229 T 1 AW fARGW ST 1975 H Afedea § AR | 5x1=5

Qs g

32. UF forgdl I fafire qieri < samean hife fSaeh g smdiehl a=iea @ fAuer

Hohdl 3 | 3x2=6
STt

A e 1 3ifd gureselt & Ted s % fow ITerE foRedl A el

i =RE HIfT | 3x2=6
33. ‘orEh wfe stem-stam e i /@urun I AR i o fau fel =
Teht =1 gzma AR | 3x2=6
T
TR ok UfqUY o fehegl oI ST bl fogeiyor ity | 3x2=6
34. 3 uideufai =1 qui hify {9k 3taia 1969 | Tegufd g = oy gATa 3T
9 | 39 TG o YNUMH 3 HIUF 1 ol hd JHIfIa foha 2 3+3=6
T
1975 o AT gRI @y g fohegi <A dereni o1 Fuid ST | 3x2=6
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Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 31.

(31.1) Which State is related to Anti-Arrack Movement ?

(31.2) The movement for ‘Right to Information’ was started in which
State ?

(31.3) ‘Operation Blue Star’ is related to which State ?

(31.4) Name the two recently created Union Territories.

(31.5) Name the 2274 State of the Indian Union which came into

existence in 1975. 5x1=5
SECTION E
32. Explain any three different ways in which American hegemony could be
overcome. 3x2=6
OR
Explain any three factors responsible for the European Union to be a
highly influential regional organisation. 3x2=6
33. Suggest any three ways to implement the concept of ‘Common but
differentiated responsibility’. 3x2=6
OR
Analyse any three reasons for resistance to globalisation. 3x2=6

34. Describe the circumstances under which the Presidential election of 1969
was held. How did the outcome of this election affect the Congress
Party ? 3+3=6

OR
Describe any three lessons taught by the Emergency of 1975. 3x2=6
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